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e A H
I T [ ok 7 A
S T — 1T H 806 1,653 818 835
$5h) T —TH 554 1,295 635 660
$5h) T —=TH 752 1,606 829 777
3k  /hE * % 2,112 4,554 2,282 2,272
=il — 1 H 1,260 2,541 1,225 1,316
=il NE 1,234 2,290 1,113 1,177
Z=oalil —= 1T H 1,331 2,647 1,290 1,357
=il uTH 844 1,953 967 986
* %k /phE * % 4,669 9,431 4,595 4,836
E=IREe — 1 H 1,012 1,990 959 1,031
E=IREe —TH 1,009 2,139 1,014 1,125
E=IREe =TH 1,755 3,022 1,431 1,591
=Rk L E 1,129 1,784 861 923
* %k /phE * % 4,905 8,935 4,265 4,670
B — 1T H 1,005 2,010 998 1,012
)1 —TH 705 1,668 836 832
)1 =TH 1,209 2,614 1,280 1,334
)1 L E! 925 1,980 983 997
* %k /phE * % 3,844 8,272 4,097 4,175
PHET)I — 71 H 890 1,813 893 920
PRET)I| —TH 740 1,646 772 874
PRET)I| —=TH 381 827 387 440
PRET)I| T H 1,411 2,935 1,471 1,464
* % /pNEF % % 3,422 7,221 3,523 3,698
* k 2REE* % 43,273 83,293 40,317 42,976
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I T | AR 7 z
FR AR —TH 3,092 6,353 2,966 3,387
FRAHT  — T H 727 1,494 738 756
FORAR =TH 1,208 2,622 1,280 1,342
FOiRART PUTH 2,072 3,421 1,469 1,952
*k  hEE kk 7,099 13,890 6,453 7,437
o IR — 1 H 1,156 2,048 1,005 1,043
o AR —TH 984 1,969 1,005 964
o IR —=TH 1,477 2,860 1,416 1,444
o AR T A 689 1,439 709 730
o AR LT H 1,875 3,662 1,843 1,819
*k  hEE kk 6,181 11,978 5,978 6,000
VG iR —T1H 787 1,127 569 558
VG iR —TH 486 908 397 511
*k  hEE kk 1,273 2,035 966 1,069
TR — 1 H 718 1,170 555 615
TR —TH 753 1,460 712 748
TR =TH 535 836 409 427
*k  hEE kk 2,006 3,466 1,676 1,790
HUFIIR — 1 H 2,077 3,155 1,426 1,729
HUFIIR —TH 865 1,392 633 759
HUFIIR —~TH 962 1,676 793 883
HUFIIR T H 420 617 310 307
TS 4,324 6,840 3,162 3,678
5 — T H 597 1,074 544 530
5 —TH 756 1,590 802 788
5 =TH 1,438 2,740 1,345 1,395
Y5 T H 647 1,267 629 638
TS 3,438 6,671 3,320 3,351




